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Midterm Exam # 2
Time: 50 minutes

ators. Show all work. Check your answers.

No hooks, notes, caleul
) For the following matrices A and B find the products AB and BA

Problem 1: (4 points
if they exist:
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3% and denote T its graph. (a)

soints) Consider the function f(z) = %
and the vertical asymptotes of T'. (b) Find the horizontal asymptotes of

n of T relative to its asymptotes (for horizontal ones: above/below,
he left/right of the asymptote?) (d) Sketch

Prob}enﬁ 2: (871
Find the domain of f
T. (¢) Determine the positio

for vertical ones: does the graph go up or down tot
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Problem 3: (3 pozm's) If the profit function for a certain product is given by P(z) =
—42% + 20z + 24 (where 2 is the number of units produced), find (a) the break-even point(s)
and (b ) the maximum profit and the number of units nee ded to achieve T‘fhs maximum profit.
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system of equations by using the augmente
T+ 2y —z= -3
224+ 3y+z=4

~T+y+2z=23

Problem 4: (8 points) Solve the following
matrix method:
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